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Section | Listening Comprehension

(35 minutes)

Directions:

This section is designed to test your ability to understand spoken English. You will hear a
selection of recorded materials and you must answer the questions that accompany them. There are

three parts in this section, Part A, Part B and Part C.

Remember, while you are doing the test, you should first answer the questions in your test
booklet, not on the ANSWER SHEET. At the end of the listening comprehension section, you will
have 5 minutes to transfer your answers from your test booklet onto ANSWER SHEET 1.

If you have any questions, you may raise your hand NOW as you will not be allowed to speak

once the test has started.

Now look at Part A in your test booklet.

You will hear a talk. As you listen, answer Questions I ~ 10 by circling TRUE or FALSE.
You will hear the talk ONLY ONCE.

You now have I minute to read Questions 1 ~10.

The recent social and economic changes in the U. S. have great impact on W
TRUE/FALSE

all the American housing system.

2. | One out of four married couples have got divorced in America. TRUE/FALSE

3. | The change in family size has affected the size of houses needed. TRUE/FALSE




In many areas of the U. 8. , people would rather rent an apartment than

4. TRUE/FALSE
buy a house.

5. | People form cooperatives to spend less money on houses. TRUE/FALSE
People move back to cities because they want to be closer to their

6. TRUE/FALSE
offices.

7. | Living underground can help reduce the cost of heating and lighting TRUE/FALSE

8. | Inflation has made the interest on housing loans 18% higher than before. | TRUE/FALSE

Unemployment in housing industry and depression in housing market

9. TRUE/FALSE

result from social and economic changes.

10. | Mobile houses are built in order to lower the cost. TRUE/FALSE

You now have 20 seconds to check your answers to Questions 1 ~ 10.
That is the end of Part A.

You will hear 3 conversations or talks and you must answer the questions by choosing A, B, C
or D. You will hear the recording ONLY ONCE.

Questions 11 ~ 13 are based on the following talk. You now have 15 seconds to read
Questions 11 ~13.

11. What does the speaker suggest that the students should do during the term?

A. Consult with her frequently. B. Use the computer regularly.

C. Occupy the computer early. D. Wait for one’s turn patiently.
12. What service must be paid for?

A. Computer classes. B. Training sessions.

C. Laser printing. D. Package borrowing.
13. What is the talk mainly about?
A Computer lab services. B. College library facilities.

C. The use of micro-computers. D. Printouts from the laser printer.

You now have 30 seconds to check your answers to Questions 11 ~13.

Questions 14 ~ 16 are based on the following news report. You now have 15 seconds to
read Questions 14 ~ 16.
14. What was the main cause of the severe casualties?
A. The tornado came ahead of time. B. There was no warning beforehand.
C. The prediction was not accurate. D. The preventions were not effective.
15. What happened to many buildings?

A. They were torn apart. B. Their upper parts were carried away.




16.

C. They were removed. D. Their overall structures were ruined.
What was the correspondent’s comment on the local government’s rescue work?

A. Prompt. B. Confident.

C. Ineffective. D. Casual.

You now have 30 seconds to check your answers to Questions 14 ~ 16.

Questions 17 ~ 20 are based on the following talk. You now have 20 seconds to read
Questions 17 ~20.

17.

18.

19.

20.

According to the passage, Americans can accept everything EXCEPT that

A. one cannot drive a car B. one beats his wife

C. one always gets drunk D. one doesn’t have a car of his own
What was the speaker asked to show when he decided to buy a typewriter?

A. He was asked to show a personal check to the salesman.

B. He was asked to show anything to prove his identifications.

C. He was asked to show a credit card.

D. He was asked to present his pass to the White House.

How did the salesman and the floor manager think when they heard that the speaker didn’t
have a driver’s license?

A. They felt very surprised and was suspicious of him.

B. They didn’t feel any surprise and sold him the typewriter right away.

C. They thought the speaker was a cheater and was thinking of calling the police.
D. They felt very sympathetic with him.

Who finally come to rescue the man out of the embarrassing situation?

A. The President of the U. S.

B. Another of his friends who happened to pass by.

C. One of his friends who happened to pass by.

D. The president of the shop.

You now have 40 seconds to check your answers to Questions 17 ~ 20.
That is the end of Part B.

You will hear a talk. As you listen, answer the questions or complete the notes in your test
booklet for Questions 21 ~ 30 by writing NOT MORE THAN THREE words in the space provided
on the right. You will hear the talk TWICE.

You now have 1 minute to read Questions 21 ~ 30.

[21. What do you know about Beethoven’s music talent when he was 77




22. | How old was he when he was made assistant organist in Bonn?

23. | Beethoven traveled to Vienna and met his idol, Mozart

24. | What was Mozart’s reaction after he heard Beethoven’s performance?

25. | What did Beethoven think of Haydn’s teaching?

What was Beethoven's personality?

27. | What can we learn about Beethoven from his style of composing?

28. | Which is the most popular of all his symphonies?

How did Beethoven communicate with others after he had lost his

hearing?

30. | Beethoven died . B

You now have 100 seconds to check your answers to Questions 21 ~ 30.

That is the end of Part C.

You now have 5 minutes to transfer all your answers from your test booklet to ANSWER SHEET 1.
That is the end of Listening Comprehension.

Section || Use of English

(15 minutes )

Read the following text and fill each of the numbered spaces with ONE suitable word. Write
your answers on ANSWER SHEET 1.

Dolphins are not the only animals 31  humans that use sounds in an apparently intelligent

manner. Whales also use a complex system of sounds 32 is similar in many ways to a human
language. One type of whale even sings, and its songs can 33 on for as long as three or four
hours. What is more, they can be hcard under water at 34 of more than 300 kilometers. Afier
analyzing one of these songs with the aid of a computer, Carl Sagan said it 35  at least a
million “bits” of information. This is approximately the same 36 of “bits” as in a long poem
like The Odyssey.

Chimpanzees also use a system of different sounds to communicate with each 37 . One
type of cry 38  to mean something like “danger in the air” or “big bird” and another

apparently means “danger on the ground” or “snake”. When they 39  the first cry, they hide

under trees or in holes and look up at the sky. The second cry causes them to hide in the upper

Xl



40  of trees and to stare nervously at the grass. Chimpanzees are also 41  of learning sign
language. So are gorillas. One chimp called Washoe learned to 42 about 160 separate signs
meaning 43 things as “Give me a drink” and “banana”. Washoe even 44  to swear. She -
had a teacher called Jack 45  once refused to give her a drink. Washoe 46  angrier and
angrier and used several signs which 47 “dirty Jack” ! A group of chimps at research institute
in Atlanta, Georgia, have recently 48  taught to type sentences, using a type of computer.
The chimps’ trainer was called Tim, and he kept correcting the 49  one of the chimps made.
The chimp obviously wanted Tim to stop 50  him and typed out the following request: “Tim

b

please leave room!”

Section Il Reading Comprehension

(50 minutes)

Read the following texts and answer the questions which accompany them by choosing A, B, C
or D. Mark your answers on ANSWER SHEET 1.

Text 1

Cyberspace, data superhighway, multi media — for those who have seen the future, the
linking of computers, television and telephones will change our lives for ever. Yet for all the talk
of a forthcoming technological utopia, little attention has been given to the implications of these
developments for the poor. As with all new high technology, while the West concerns itself with
the “how” , the question of “for whom” is put aside once again.

Economists are only now realizing the full extent to which the communications revolution has
affected the world economy. Information technology allows the extension of trade across
geographical and industrial boundaries, and transnational corporations take full advantage of it.
Terms of trade, exchange and interest rates and money movements are more important than the
preduction of goods. The electronic economy made possible by information technology allows the
haves to increase their control on global markets — with destructive impact on the have-nots.

For them the result is instability. Developing countries which rely on the production of a small
range of goods for export are made to feel like small parts in the international economic machine.
As “futures” are traded on computer screens, developing countries simply have less and less
control of their destinies.

So what are the options for regaining control? One alternative is for developing countries to

buy in the latest computers and telecommunications themselves — so-called “ development

M



communications” modernization. Yet this leads to long-term dependency and perhaps permanent

constraints on developing countries’ economies.

Communications technology is generally exported from the U. S., Europe or Japan; the

patents,

skills and ability to manufacture remain in the hands of a few industrialized countries. It

is also expensive, and imported products and services must therefore be bought on credit — credit

usually provided by the very countries whose companies stand to gain.

Furthermore , when new technology is introduced there is often too low a level of expertise to

exploit it for native development. This means that while local elites, foreign communities and

subsidiaries of transnational corporations may benefit, those whose lives depend on access to the

information are denied it.

51.

52.

53.

54.

55.

From the passage we know that the development of high technology is in the interests
of

A. the rich countries B. scientific development

C. the elite D. the world economy

It can be inferred from the passage that

A. international trade should be expanded.

B. the interests of the poor countries have not been given enough consideration

C. the exporis of the poor countries should be increased

D. communications technology in developing countries should be modernized

Why does the author say that the electronic economy may have a destructive impact on
developing countries?

A. Because it enables the developed countries to control the international market.

B. Because it destroys the economic balance of the poor countries.

C. Because it violates the national boundaries of the poor countries.

D. Because it inhibits the industrial growth of developing countries.

The development of modern communications technology in developing countries
may

A. hinder their industrial production

B. cause them to lose control of their trade

C. force them to reduce their share of exports

D. cost them their economic independence
The author’s attitude toward the communications revolution is

A. positive B. critical C. indifferent D. tolerant

Text 2

We are told that the mass media are the greatest organs for enlightenment that the world has

yet seen; that in Britain, for instance, several million people see each issue of the current affairs




program, Panorama. It is true that never in human history were so many people so often and so
much exposed to so many intimations about societies, forms of life, attitudes other than those
which obtain in their own local societies. This kind of exposure may well be a point of departure
for acquiring certain important intellectual and imaginative qualities, width of judgment, a sense of
the variety of possible attitudes. Yet in itself such exposure does not bring intellectual or
imaginative development. It is no more than the masses of a stone which lie around in a quarry and
which may, conceivably, go to the making of a cathedral. The mass media cannot build the
cathedral, and their way of showing the stones does not always prompt others to build. For the
stones are presented within a self-contained and self-sufficient world in which, it is implied,
simply to look at them, to observe — fleetingly — individually interesting points of difference
between them, is sufficient in itself.

Life is indeed full of problems on which we have to — or feel we should try to — make
decisions, as citizens or as private individuals. But neither the real difficulty of these decisions,
nor their true and disturbing challenge to each individual, can often be communicated through the
mass media. The disinclination to suggest real choice, individual decision, which is to be found in
the mass media is simply the product of a commercial desire to keep the customers happy. It is
within the grain of mass communications. The organs of the Establishment, however well-
intentioned they may be and whatever their form ( the State, the Church, voluntary societies,
political parties) , have a vested interest in ensuring that the public boat is not violently rocked,
and will so affect those who work within the mass media that they will be led insensibly towards
forms of production which, though the skin to where such enquiries might really hurt. They will
tend to move, when exposing problems, well within the accepted cliché — cliché not to make a
disturbing application of them to features of contemporary agitation of problems for the sake of the
interest of that agitation in itself; they will therefore, again, assist a form of acceptance of the
status quo. There are exceptions to this tendency, but they are uncharacteristic.

The result can be seen in a hundred radio and television programs as plainly as in the normal
treatment of public issues in the popular press. Different levels of background in the readers or
viewers may be assumed, but what usually takes place is a substitute for the process of arriving at

&

judgment. Programs such as this are noteworthy less for the “stimulation” they offer than for the
fact that that stimulation (repeated at regular intervals ) may become a substitute for, and so a
hindrance to, judgments carefully arrived at and tested in the mind and on the pulses. Mass
communications, then, do not ignore intellectual matters; they tend to castrate them, to allow

them to sit on the side of the fireplace, sleek and useless, a family plaything.

56. According to the passage, the mass media present us with
A. insufficient diversity of information B. too restricted a view of life

C. a wide range of facts and opinions D. a critical assessment of our society




57. The word “disinclination” in the second paragraph implies that
A. mass media are not capable of giving real choice and individual decision
B. mass medial does not feel like giving real choice and individual decision
C. mass media does not manage to give real choice and individual decision
D. people do not expect to get real choice and decision from mass media
58. The author uses the comparison with building a cathedral to show that
A. worthwhile results do not depend on raw material only
B. the mediaeval world had different beliefs
C. great works of art require good foundations
D. close attention to detail is important
59. Radio, TV and the press are criticized here for
A. widening the gap between classes
B. assuming that everyone’s tastes are the same
C. failing to reach any definite conclusions
D. setting 100 intellectual a standard
60. What is the author’s final judgment on how mass communications deal with intellectual
matters?
A. They regard them as unimportant.
B. They see them as a domestic pastime.
C. They consider them to be of only domestic interest.

D. They rob them of their dramatic impact.

Text 3

An industrial society, especially one as centralized and concentrated as that of Britain, is
heavily dependent on certain essential services; for instance, electricity supply water, rail and road
transport, the harbours. The area of dependency has widened to include removing rubbish, hospital
and ambulance services, and, as the economy develops, central computer and information services
as well. If any of these services ceases to operate, the whole economic system is in danger.

It is this interdependency of the economic system which makes the power of trade unions such
an important issue. Single trade unions have the ability to cut off many countries’ economic blood
supply. This can happen more easily in Britain than in some other countries, in part because the
labour force is highly organized. About 55% of Britain workers belong to unions, compared to
under a quarter in the United States. For historical reasons, Britain’s unions have tended to
develop along trade and occupational lines, rather than on an industry-by-industry basis, which
makes a wages policy, democracy in industry and the improvement of procedures for fixing wage
levels difficult to achieve.

There are considerable strains and tensions in the trade union movement, some of them




